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SELECTION (1) MEASUREMENT (2) CORRECTION?

TYPE NUMBER AND PRESS RETURN KEY
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STEP 1O 00000000 00DOO0bOOOO0boOOoO0bOOooooOn
obOooOoO0O00o0oDOO0oOobDOobOOoOobOO0oOoDbDOoOoDbDOobOOo(cH.oOo
CH3OOPENOD O ODODOOODOOOO

CH.0 OPEN MEASUREMENT
OPEN TEST TERMINALS OF CH.0 AND CH.1
(1) START OPEN MEAS. (2) SKIP CH.0 OPEN MEAS.?

TYPE NUMBER AND PRESS RETURN KEY

OPENO D ODOOO0OOOOOO0OO0OO7IOOOOOOD0OO0DOOPEN
gobo0oboboooboboobobo0lmbo0o0obO0RETURNDO
oO0oO0o0oOooOooOoDOgDoCHOOOOPENDODODODOODODOO
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CH.0 LOW : \:<‘ o © / : HIGH

CH.1 LOW : < o o : HIGH

CH.2 LOW : :< ° o : HIGH

CH.3 LOW , -t\ o , HIGH
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CH.0 SHORT MEASUREMENT
SHORT TEST TERMINALS OF CH.0 AND CH.1
(1)START SHORT MEAS. (2)SKIP CH.0 SHORT MEAS.?

TYPE NUMBER AND PRESS RETURN KEY
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N1: L[H]: 6.00928E-6 DCR[OHM]: .0134568726173
N2: L[H]: 2.392557E-5 DCR[OHM]: .0171348134407
N3: L[H]: 9.603832E-5 DCR[OHM]: .0230939715609
N4: L[H}: .00038334126 DCR[OHM]: .0250939715609

DO YOU WANT TO CONTINUE TO MEASURE (1) YES (2) NO

N: 1
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10 1 e e e i e 9 s e o e o ok o ok o vk e e e o e o e o e ok ol o e o o o ok o e o ol e e ok e ok
20 I* HP 4263B with Option 001 *
30 I* Transformer Measurement us1n§ scanner *
[.0 |ii*t*tt**i**t*****i********h*** oo e e e e e v e e ke o
50 !

60 OPTION BASE 0

70 DIM Ch_hc(3),Ch_hp(3)

80 DIM Meas_| r(3) Meas 1(3),0ummy(3),N(3),True_r(3),True_L(3)

90 DIM Open_r(3),0pen_L(3),0pen_ 9(3) Open b(3$ short _r(3),Short_l(3)

100
110  Hp4263B=717 ! HP 4263B HP-1B Address = 717
120 Hp3488a=709 ! HP 3488A HP-1B Address = 709
130 Nch=3 ! (#-1) of Transformer tap
140 F=1.0E+3 ! Test Frequency
150 =1 | Test Signal Level
160 T1=.065 ! Measurement Speed
}gg N(0)=1 1 N1=1 as reference
1
;(9)8 Main_menu: I << MAIN MEMU >>
1
210  PRINT CHR$(12) ! Clear screen
220  Work=0 1

230 PRINT "SELECT FUNCTION (1) MEASUREMENT (2) CORRECTION ?" !
240 INPUT "TYPE NUMBER AND PRESS RETURN KEY", Hor‘k !

250 IF Work=1 THEN Measurement

260 IF Work=2 THEN Correction

0 !
280 Correction: ! << CORRECTION >>

303 Open_correction: I << OPEN correction >>

320 OUTPUT Hp4263B;":SYSTEM:PRESET" Reset the HP 4263B
330 OUTPUT Hp4263B ":SOURCE:FREQ ";F Frequency: F
340 OUTPUT Hp4263B:

350 OUTPUT Hp4263B; 1n:SENS:FIMP:APER 05" Meas. speed: LONG
370 FOR Ch=0 TO Nch

390 Ch$=VAL$(Ch)
400 PRINT CHR$(12)

|
1
1
!
1
1
'
!
:SOURCE : VOLTAGE "; sV ! Signal level: V
1
1
!
1
1
1
410 PRINT “CH."&Ch$&" OPEN MEASUREMENT" !

530 Ch_hc(Ch)=200+Ch*10
540 IF Ch=0 THEN Ch_hp(Ch)=211
550 IF Ch<>0 THEN CR_hp(Ch)=201

Channel Setting of Hcur/Lcur
Channel Setting of Hpot/Lcur

420 IF Ch=0 THEN PRINT "OPEN TEST TERMINALS OF CH.O AND CH.1"!
430 If Ch<>0 THEN PRINT “OPEN TEST TERMINALS OF CH.O AND CH."&Ch$!
2;8 PRINTO“ (1) START OPEN MEAS. ) SK]P CH."&Ch$&" OPEN MEAS.?"
Work=
460 INPUT "TYPE NUMBER AND PRESS RETURN KEY“ Work !
470 IF Work<>1 AND Work<>2 THEN 460 !
480 IF Work=1 THEN Open_meas !
ggg IF Work=2 THEN Open_skip_ch !
1
510 n_meas: !
520 Open !
!
'
!
560 !
570 OUTPUT Hp3488a;"RESET" ! Reset the HP 3488A
580 OUTPUT Hp3488a-"CLOSE“ Ch_hc(Ch),Ch_hp(Ch) ! Close the channels
590 OUTPUT Hp4263B n:SENS: FUNT:CONC ONY™ ! Meas.mode: L2-R2

600 OUTPUT Hp4263B;":SENS:FUNC ‘IMP’,’RES’"!

610 OUTPUT Hp4263B;":CALC1:FORM LS" !

620 OUTPUT Hp4263B;":CALC2:FORM REAL" !

630 OUTPUT Hp42638'“TR1G SOUR BUS" ! Trigger mode: BUS
640 OUTPUT Hp4263B;"*TRG" ! OPEN correction data
650 ENTER Hp4263B;S,0pen_L(Ch),0Open_r(Ch) !

660 IF S<>0 THEN 640

670 OUTPUT Hp3488a;"OPEN";Ch_hc(Ch),Ch hp(Ch) ! Open the channels
680 Open_g(Ch)= 1/0pen r(Ch)
690 Open_b(Ch)=1/0pen_L(Ch)

0
718 Open_skip_ch:
738 NEXT Ch
750 Short_correct:

770  OUTPUT Hp4263B;":SYSTEM:PRESET"
780 OUTPUT Hp4263B;'":SOURCE:FREQ ";F
790 OUTPUT Hp4263B;":SOURCE: VOLTAGE "; v
800 OUTPUT Hp4263B;":SENS:FIMP:APER 0.5"

820 FOR Ch=0 TO Nch

840 PRINT CHR$(12)

850 Ch$=VAL$(Ch)

860 PRINT "CH."&Ch$&" SHORT MEASUREMENT" !
870 If Ch=0 THEN PRINT "SHORT TEST TERMINALS OF CH.O AND CH.1"!

880 IF Ch<>0 THEN PRINT "“SHORT TEST TERMINALS OF CH.0 AND CH."&Ch$ !
890 PRINT (1) START SHORT MEAS. (2) SKIP CH."&Ch$&" SHORT MEAS.?" !

Wor
910 INPUT “TYPE NUMBER AND PRESS RETURN KEY" ,MWork !
920 IF Work<>1 AND Work<>2 THEN 910 !
930 IF Work=1 THEN Short_meas !
940 IFf Work=2 THEN Short_skip_ch !

<< SHORT Correction >>

Reset the HP 4263B
Frequency: F
Signal level: V
Meas. speed: LONG

Clear screen
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el VNHBWNN=2O

860 Short_meas:

Ch_hc(Ch)=200+Ch*10
IF Ch=0 THEN Ch hp(Ch)=211
IF Ch<>0 THEN CR_hp(Ch)=201

OUTPUT Hp3488a;"RESET"

Channel Setting for Hcur/Lcur
Channel Setting for Hpot/Lpot

Reset the HP 3488A

OUTPUT Hp3488a;"CLOSE";Ch hc(Ch) Ch hp(ch) ! Close the channels

OUTPUT Hp4263B;":SENS: FUNT:CONC 0

OUTPUT Hp4263B,":SENS FUNC ’IMP’, ’RES’"'

OUTPUT Hp4263B;":CALCT:FORM LS"

OUTPUT Hpl263B;":CALC2: FORM REAL"
OUTPUT Hp4263B;"TRIG:SOUR BUS"

OUTPUT Hpt263B; "*TRG"

ENTER Hp4263B;$,Short_L(Ch),Short r(Ch)
IF S<>0 THEN 1090

Meas.mode: L2-R2

Trigger mode: BUS
SHORT correction data

OUTPUT Hp3488a;"OPEN";Ch_hc(Ch),Ch hp(Ch) | Open the channels

Short_skip_ch:
NEXT Ch
GOTO Main_menu
Measurement:

PRINT CHR$(12)

OUTPUT Hp4263B;":SYSTEM:PRESET"
OUTPUT Hp4263B'"'SOURCE FREQ “;F
OUTPUT Hp4263B; " :SOURCE : VOLTAGE "; ;v
OUTPUT Hp4263B;":SENS:FIMP:APER ul T
OUTPUT Hp4263B'“ TRIG:SOUR BUS"
OUTPUT Hp34888;“RESET“

FOR Ch=0 TO Nch

OUTPUT Hp4263B;'":SENS:FUNC:CONC ON"
OUTPUT Hp4263B;":SENS:FUNC ‘IMP/, /RES’ "1
OUTPUT Hp4263B;":CALC1:FORM LS"

OUTPUT Hp4263B'“'CALC2 FORM REAL"
Ch_hc(Ch)=200+Ch*10

IFTCh=0 THEN Ch_hp(Ch)=211

IF Ch<>0 THEN Ch_hp(Ch)=201

Return to Main Menu
<< MEASUREMENT >>

Clear screen
Reset the HP 4263B
Frequency: F
Teset signal level: V
Measurement Speed: T
Trigger mode: BUS
Reset the HP 3488A

Meas.mode: L2-R2

Channel Setting for Hcur/Lcur
Channel Setting for Hpot/Lpot

OUTPUT Hp3488a;"TLOSE";Ch_hc(Ch),Ch hp(Ch) ! Close the channels

OUTPUT Hp‘ZéSB‘"*TRG“
ENTER Hp4263B;S,Meas_L(Ch),Meas_r(Ch)

True_L(Ch)= (Heas L(CR)-Short_L(Th))/((1-(Meas_L(Ch)-Short _L(Ch))*Open_b(Ch
True_r(Ch)=(Meas_r(Ch)-Short_ r(Ch))/((1|(Meas r(Ch)-Short_r(Ch))*Open_g(Ch

IF Ch=0 THEN Skip_meas

L2-R2 measurement

1
OUTPUT Hp4263B;":SENS:FUNC ’IMP’,’VOLT:AC'" ! Meas.mode: L-N

OUTPUT _Hp4263B; "*TRG"
ENTER 717;S,Dummy(Ch),N(Ch)

IF S=1 THEN

OUTPUT Hp3488a;"OPEN";Ch_hc(Ch),Ch hp(ch) 1 0
! Heur c
' H

Ch_hc(Ch)= 201+Ch*10
Ch~hp(Ch)=200

N measurement

Hcur-Hpot CHANGE for OVLD
n channels
annel CHANGE
t channel CHANGE

ouTPUT Hp3488a,"CLOSE“ Ch_hc(Ch),Ch hp(C ) ! Close the changed ch.

OUTPUT Hp4263B; "*TRG"
ENTER Hp4263B;S,Dummy(Ch),N(Ch)
ENg(?P) =N(0)/N(Ch)

Skip_meas:

PRINT “N" Ch+1;u:v vl [H]:":True l(Ch),"DCR [OHM] :

N measurement

N1:Nx=1:0.XX

ouTPUT Hp34883 “OPEN" Ch hc(Ch) Th hp(Ch)I Open channels

NEXT Ch

Work=0
INPUT "DO YOU WANT TO CONTINUE TO MEASURE?

IF Work=1 THEN Measurement
IF Work=2 THEN 1740
IF Work<>1 AND Work<>2 THEN 1690

END

(1) YES (2) NO",Work

';True_r(Ch),"N:";N(Ch)
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